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SECTION -1 - HAT - I

A particle is projected at 60° to the

horizontal with a kinetic energy K. The
kinetic energy at the highest point is

(A K B K
4 2
(€} K (D} zero

Three masses are placed on the x-axis : 300
gm at origin, 500 gm at »r = 40 cm and 400
gm at x = 70 cm. The distance of the centre

of mass from the origin is
(A) 45 cm (B) 40 cm

{©) 50 cm (D} 30 cm

An artificial satellite moving in a circular
orbit around the earth has total energy [PE +

L UE HU K TS e W 8w A goe

BV W vET A Sier §, o S=ad
g o= 7 &=t 8rfY -

(A K 8 K
4 2
© K (D) 3T

dF SEEM -3 W, 300 gm B A
g W), 500 gm &1 y = 40 Wi W
TAT 400 gm BT 5 = 70 T ® W T

g | $=Y FNE @B qd g ¥ gf
gl -

(A) 45 I,
© 50 HA.

(B) 40 W
(b) 30 ¥

e e

il

KE] E,. Its potential energy is ol (Rafer s e St E, 3
e el ®) E, @ Rafsr oot €rft -
© 15E, (d) 2 E, (A)  —E, (8 E,

(© 15E, o 2E,
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If pendulum bob on a 2 metre string is
displaced 60° from the vertical and then

released, what is the speed of the bob as it is
passes through the lowest point in its path ?

A 2 m/sec ®) V2X98 m/sec
{€) 4.43 m/sec o) 1

—= m/sec

2

Which of the following does not have a
metal carbon bond ?

@ K[Pt(C,H,)Cl;] B Al(OC,H:),
(© C,H:MgBr (P} Ni(CO),

In what ratio does the point (-4, 6) divide
the line segment joining the points A(-6, 10)

and B(3,-8)?
(A)2:7 (B)4:5
{ct3:7 (Dy4:9

A 25 watt-220 volt bulb and a 100 watt
-220 volt bulb are joined in series and
connected to the mains. Which bulb will
glow brighter ?

(A) Both will glow with same brightness

{B) 25 watt bulb

(©) First 25 watt bulb and then 100 watt
bulb

{D) 100 watt bulb

_gﬁ?ﬁ@wa‘?‘aw‘rzﬁaﬁ@ﬁﬁ

§HT B, B $HEER ¥ go° W o SR

8IS R wmar € | §f7 @1 o v w®
e fdg & o w AT ®=0 R 2
A 7 A, B Fxgg WAL
(© 4.43 #m. 0 1 #Hr

V2

Frfofea & & v argedT dg w8
g2

(A K[Pt(C,H,)CL]

B  AI(OC,Hs)s

(©  CHMgBr )  Ni(co),

a1 f=galt A6, 10) T B(3, 8) @
SIS Al YEEE Bl [ (4, 6) few

AT H gieT -
(A) 2 : 7 B) 4 :5
€ 3:7 (D) 4 : g

25 91 -220 dIec BT TP dod Pl 100

die 220 4T F TIN dod A AvfimH

SeER = Rag (39 wraw) 9 W
S ® | BN AT ged SIf¥e gHe 2
(A) SHT god T gHS |

(8) 25 qrc &7 959

(© 9gel 25 91€ BT god Y 100 91€ BT
goq

D) 100 gIC HT geq
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& The rate constant for the first order reaction |8 TH e 1 TP affpar & W
is 60 st The timein which it reduce the Rexi® 05t £ | g8 O 5rad

) th

concentration of the reactant to 1% ale|  afreRe @1 AEY ith A XE S
_ i6 16

1S

(A) 46 seconds

(8) 4.6 x 1072 seconds

' -

(A) 46 AHITH
' (B) 46 x 1073 3w
(€ 4.6 x 1072 seconds "
(© 46x 1072

{D) 2 seconds \ a5
2 %$U?aﬂ

9. Percentage errors in the measurements of |8 G&THM drR @1 & " § I 2%
mass and speed are 2% and 3% respectively. 3R 3% DI HlkER e arfy TS | gEE
The error in the estimate of kinetic energy o |l 1 S LA s ol B

obtained by measuring mass and speed will T # e 2rft -
be () 12% (®) 2%
B o,
(W) 12% (8) 2% & wx i vun
(€) 8% (D) 10%
] . e

.0 Which ore contains both iron and copper ? |0 5 TP I ¥ oEr 9 S1Er ZME 82

(A) Chalcocite (B) Chalcopyrite \ (A) GrehTaIse (B) ATcHIURINISC

() Cuprite (D) Malachite (0 wgIIEe (0) HFAAEC
i, In Friedel Crafts alkylation, besides AICls, |11 BISeT 3IYC ¥ TeddieE § A0l P

the other reactants are JTATdT FRPRG © -

{A} CGHB + N.Hg {B} CsHE + CH3CI | {A} C:H; E 55 _\‘E—'j: /

{al} CeHG + CH3COC£ iB) C.;H.,: e CH_,,CI »

(o) CcHg + CHy © C.Hg + CH;COC

| (D) CHe + CH,
|
12. The perimeter of a triangular field is 450 m |12 Udh %['Eﬁ[ﬂ'ﬂ’\' Ta Bl gR¥rg 450 LTS

and its sides are in the ratio 13 : 12:: 5. The| T S9& agerrell @1 AT 13 + 42 * 8

area of the triangle s | BryoTeR O B AR B -
(A) 7560 m? B8 5670 m> {A) 7560 = (8) 5670 &2
© 6750 m* (@) 6570 m* | @ 6750% ®) 570 =
| my iR Page:4
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13 s 2
* The nucleus resulting from 2;2U after

successive emission of two ¢-particles and
four B-particlesis

(A) 230 (B) 230

gq PU -
€} 23 (D} 230
gon 38 Ra

4. At the magnetic poles of the earth, a
compass needle will be
(A) Vertical (B) Bent slightly

{C) Horizontal

(D) Inclined at 45° to the horizontal

16. The molarity of pure water is (density of
water=1gm 1)

{A} 45.55 M
(€) 66.66 M

(8} 55.55 M
(D) 44.4 M

% Ina AABC, AB= &+/3 cm, AC=12cmand
BC =6 cm, then the angle B is

T A Bl I &
oz

ey

ke

5.

B.

HHIE SoUed & YRUTAE®Y 99 el
qANF -

(A) 230 (B)  23p
s PU ool h
© 23 ) 23p
920U g8 Ra

Rl $ FEHEI YA W TH R B
¢ B -

(A FeafeR

(®) THl I FH TS

(€ aftrsr

0) &R F 450 W YA &S

TE W B AR § (I B geaeE =
1 gm L‘lj
(R) 45.55 M
(© 66.66 M

TP RS AABC  AB = gy3 W, AC
= 12 I 91 BC = 6 ¥ & O B B

(B] 5555 M
(D) 444 M

(A) g9g° (8) 45° BT A BT
€ 120° D) 60° i " 4
©  120° o) g0°
Page: 5 6003852
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7. A small metal ball is suspended in an

uniform electric field with the help of an

insulated thread. If a high energy X-ray

beam fallson it

(A) The ball will be deflected opposite to the
direction of field.

(8) The ball will be deflected in the direction
of field.

(©) The ball will move to infinity.
(D) The ball will not deflected at all.

A body cools from80°C to 64 °C in 5|18

minutes and same body cools from 80 °Cto

52°C in 10 minutes. What is the
temperature of surroundings ?

(A) 24°C (8) 28°C

{9 25°C o)y 22°C

18.

Which of the following is not a colﬁgaﬁve% 18.
property ?

{A) Relative lowering in vapour pressure ‘
(8) Elevation in boiling point

() Depression in freezing point

(D) Optical activity

ﬂﬁﬂﬁwﬁl‘cﬁﬁaﬁaﬁmﬁa‘o’r
W%Wﬁﬁw%ﬁﬁm
S & | A Te S el @ Xray

&% s S Sl ST 8 @ -
W g dgm ow B Reda Rem |

(© e I R Fell SIE |
o) g Rafe 72 2rf

Wﬁiﬁmggcc'@r@,ccﬁ%aﬂas
fire & 2rar & @ 98 e g0 °C g
5zocafsau€r1oﬁﬂtﬁam%l

ST ¥ aTeasel &1 drd B
(a) 24°C 8) 28°C

¢ 25°C e 22°C

il
(W) qreETe P SMARD ST
b i 5
© S =

Jg—<ii

m\

. — .
0. If =3 242,then x* + ;EWIII be 2 JRE , =3 242 B A+ 5 @1 =+
(a) 30 (8) 24 BT -
(c) 34 (D) 36 (A} 30 (8) 24
(€ 34 (0) 36
l
|




21 Rootofthe equation 3x2 4+ 7ix + 6 =0 |21 Ffiwwor 3x2 + 7ix+ 6 =0 ¥ T B -
(a) _ 3 (B) 2 (A) 3 (8) 2
3i,—i 2i,—i i, —i i, —i
3 3 31,21 21,31
(© 2 (D) 3i, 2i 2 D) 3i o9
=T % " a
3
22. The work done in placing a charge of |22 100 wEHhTE REr & waiRy
8 X 107%° Coulomb on a capacitor of| g 5 1q-18 FM B Y Y& F B
capacity 100 microfarad is BT BN -
(A) 16 x 10732 IOU}.Q {A) 16 X 10_32 %
B —26
(8 3.1 x 1072° Joule B) 34 5 1928 et
© 4 x 1071 Joule
J © 4 x 1070 5@
@) 32 x 10732 joule
) 32 x 1032 <&
23. The value of x in the following series : 2. foraforReg Sof & ¥ BT °9 BRI -
1+6+11+16+.......+x =148 1+6+1+16 + . + ¥ = 148
(4} 36 (8} 38 (A) 3p (B) 38
(©) 37 (D) 39 6 53 0 39
24 1If a body loses half of its velocity on|2. gfe U6 I« ddsl & & §$$ o 3
penetrating 3 cm in a wooden block, then|  {#f dg ¥ amp R B
how much will it penetrate more before P &R I B R B
coming to rest ? feRmaven § a1 ww 2
(A) 1cm (8) 2 cm (A 1 em B 2 cm
(©) 4cm () 3cm © 4 cm @) 3 cm
25. If the arcs of same length in two circles | 25. war dNE & A9g Q) Qﬁ\r F BE W
subtend angles of 60° and 75° at their 60° 3R 75° & BT 910 § @ 89 Ciil
centres, then the ratio of their radij P Brearaf oy U BRI -
(cl78 "3167 (C) 7:8 “‘“6?
Page: 7 600352



26. The half-life period for a zero order reaction | 26. [ e & Ao & v g g

is equal to Il a¥EX © -

(a) 0.693 (8 2K Ay  0.693 (8) 2K
K[Al, [alo K[Alo [al,

© [Al, (o) 0.693 © [Al, (o) 0.693
2K K 2K K

27. The length of the minute hand of a clock is|27. T&H sl & BFe qrefl '\'1'&‘ Bl E'TFEITsL 14
14 cm. The area swept by the minute hand| <Rl § | e arell ¥ & &N 5 e q

in 5 minutes. Fax T T &5 BT §IBA BN -
(A) 154 (8) 154 = -
2% SV (A) 154 . (B) 54 et
12 6 12 &
(o) 154 (o) 154 =
e sz — Cln (C} 15_4 éﬁz {D) E —L_‘T_-_"‘—z
9

28. The number of moles of KynO, that will |28 KMnO, & Al W oAwE S %™

be needed to react completely with one| .o % ¢ O q oy faemT
mole of ferrous oxalate in acidic solution is T,h- frar & o IEvEs e

A
) E () é (ay 3 8} 4
5 5 = =
ey 2 D =
“— Ha (c 2 (D) 1
- E

2. A convex lens is in contact with concave = TS Sud o9 W T gHE H §

lens. The magnitude of the ratic of their g?ﬁ SHd 'iﬁzﬁ R S )
2 - 2 ErT
focal lengths is —. Their equivalent focal qIRETT E g | T wEge %Ei

=
length is 30 cm. What are their individual| 30 ¥ ¥ | ST ST Bed T
focal lengthsincm ? . F Bl -
{a) =75, 50 &) 75,50 (8} -75, 50 (8) 75, 50
(9 -10, 15 (o) -15, 10 @ -0 5 () —15, 10

Page: 8




30.

31,

32

33.

The water droplets in free fall are spherical | 30.

due to
(A) Gravity (B) Viscosity

(€) Surface tension

(D) Intermolecular attraction

Real value of x andy, if f___1_+ Xi:g o
341 3-i

(A) -4, 6 (B} 7,-7

(c-2,5 (D) -10, 12

The length of a cold storage is double its |32

breadth. Its height is 3 metres. The area of
its four walls (including doors) is 108 m?.

Its volume will be
(A) 216 m? (8) 206 m*®

© 416 m° (D) 316 m?

]

Nessler's reagent is used for the detection of | 32

(A) Nat (8) K*

© cu?* (D) NH;

I nprzn r—'land ncrzncr-t-l‘ then the | %

valuesof nandr
(AAn=2,r=3 {BYn=5,r=4

(©n=3,r=2 D)n=4,r=5

Which of the following behaves both as| 35

nucleophile as well as an electrophile ?
(A} CH,CN (8) CH;CI

(© CH,0H (0) CH,CHO

wamagde AR & 9 B Rl @
AHR TMATPR frad SROT 85l € ?
(A) o (B) Zrar

(@ g T
(D) RIS HI

a‘% 53_;_?_{.%:5 -(—ﬁ x Sfl'\' y Gl
e | BT -

(A) -4, 6 B) 7, -7

@ -2, 5 ®) -0, 12

% N TE B NS SHB Ao B
7 R | g $arg 3 WL g | T
IR DaRT (@S afed) B &FBA
1082 & | 99 W& BT SIS B -

(B) 206

A 216
© 416 ) 3164

AR B BT SHRINT W T &
forg B ¥ -
(A Na* () K*

©  cu?* (®  NHj

Hfa' nPr=nPr_1ﬁ}2ﬂ Hcr=ﬂcr+l-(ﬂ' n 3:!‘\1'{

r @I A BN -
Wnpn=2r=3 B n=5r=4
& n=3r=2 {D}n=4’r=5

frr § ¥ BN ANeeEl 9
SATEEl SFl B T%E B BT © 2
(A)  CH,CN (8)  CH,CI

(©  CH,OH (0)  CH,CHO

Page:9
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36.

37.

39.

40.

A bomb of mass 9 kg explodes into 2 pieces
of mass 3 kg and 6 kg. The velocity of mass 3
kg is 1.6 m/sec. The kinetic energy of mass 6
kg is

(A) 1.92 loule
(¢) 3.84 Joule

(8) 9.6 loule
(D} 2.92 Joule

In a single throw of three dice, the
probability of getting a total of 5

a 1 8 1
36 216
@ 5 (o) 5
108 216
- f tanx 4+secx = V3, such that

0 < x <, then xisequalto

w T g T
6 3
() 5m () 2m
6 3

Which of the following is not a good
conductor ?

(&) Cu metal 8) Nzl (molten)

(© NaCl(s) ®) NaCl(aq)

IUPAC name of - | is
CH

{A) 1-Fthoxy propan-2-ol
{B) 3-Ethoxy propan-1-ol

36

3r.

38.

(]
w0

40.

kg B TP g9 AW & 99
kg kg & <1 gHe! § dedr ¥ |
kg SEEM 1 47 1.6 WAL € | 6 kg
GEHA @ TS ol Bl -

(A} 1.92 S (8} 9.6 T

(©) 3.84 S (D) 2,92 S

39 Ui & TP SBId W $d A 5
AN B IIRIEa BRI -

.9 THA
3 3R 6
3

(A) 1 (B) 1
36 216
(€ 5 (D) 5
108 216
afs tanx + secx = V3 e
Q<x<m A x B AN B -
(wy T ® T
6 3
{C) 8 {D} 2n
6 3

9 Naci(s) (0} NaCllag)
CHg—L;HPCHZ—OCZHS &1 TUPAC T &

OH
(A) 1-gTeRil HIo=-2-3ff
(B) 3-ggfeRf HIu-1-3iie

(¢) Ethoxy pentanol € gt teAa
(D) 2-hydroxy-3-pentanone () o-EEEIEN-3-4cHIT
Page: 10




41.

42,

45.

|

SECTION -1l
ELECTRICAL ENGINEERING

A Central Processing Unit (CPU) of a
computer consists of
(A) Control, Clock and RAM

(8) Control, ALU, RAM and ROM
(€} Control, Clock and ROM

(D) Control and arithmetic logic unit and
primary storage

Which of the following used in electrical
systems ?
(A} Pyrex (B) Silicon glass
(€} Fibre glass insulation

(D) All of these

The velocity of neutron in a nuclear reactor
is retarded by

(A) Heavy water (B) Mercury

{C} Ordinarywater (D} Alcohol

What does LED stands for ?
(A) Light emitting display
{(B) Low energy display

(©) Light emitting diode

(D) Light emitting detector

The mass of an electron can be found if we
know

(A) e/m (B) charge

(c) (D) e x m

=
—and charge
m

41.

42,

'J-‘|'|T|'_..l|
- .
mﬁﬂi’amﬂﬁhqﬁztcm)ﬁ

(A) FHTd, Tt IR RAM

(8) Bgred, ALU, RAM 3R ROM

@ Hhe, Fild AR ROM

P) T, PR 96 IHE AR TS
HSRUT

= § & faga gomelt ¥ SUYNT g §

(A) TR (8 Ryferpia T
(C) wgaR A EH
) F Wt

- REM B Y WA R § g @

SR § 3% §RT
(A) 9 Y (B) Oy
© gEFg o D) teeRd

- LED ¥ w1 a9y ® 2

() orge Tl feva
B < gl et

@ arge g sris
() drze gfAfdT fRedaex

- TGS B AN UdT PR Uhd & R

T W 8

A e/m (8) 3aer

(© € gRa@yr (B exm
nl

=]
(33
1

2

Page: 11
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48.

47,

48,

An electric kettle of 2000 watt is filled with
water. If only 80% of thermal energy is used
to increase the temperature of water, then
what will be time to increase the
temperature of 1 litre water from 4°Cto

100°C?

(A) 3 minutes and 42 seconds

(B) 4 minutes and 12 seconds

() 4 minutes and 42 seconds

(D) 3 minutes and 12 seconds

What will be the total electric potential

energy of the system, if AB = BC=CA=0.10
meterand yv= 1.0 X 1077C?

A
—4y

0.1lm

B

v

C

+2v

(W +60 x 1072 joule

(B — 6.0 x 1073 joule
© 390 x 1072 joule
(o) - 90 x 10° joule

What is the approximate voltage thati48-

develop across a red LED ? '
(A) 3.4V (8) 1.7V \
{c) 0.6V (@) 5V

_ The AM spectrum consists of

(A) carrier frequency

(8) upper side band frequency ‘

{©) lower side band frequency

(D) All of these l

46.

47.

Wzooomaﬁfﬁ%ﬁmqﬁﬁﬁﬂﬁ
%luﬁwmmﬁﬂﬂasn%
aT € S BT O ge g WIE e
£ G 1 offex oI B A9 4°C W 100°C
% do § 9§ RN -

(A) 3 BFE 42 AFTS

B 4 fFE 12 AHTS

(€ 4 fFe 42 AFTS

D) 3 e 12 APTS

s § R W fer @ A Iea
Ruftrst S 1 &Ff Si9fe AB = BC =
CA = 0.10 #l. @1 y= 10 x 107C?

+2v

W L0 x 1077 joule
B} _ g0 x 1072 joule
@ +90 x 1073 joule
® - 90 x 107 joule

1o LED TR SrAIR SeieT areest il
g
(A) 3.4V

© o086V

(8 17 V
D 5V

o AM @A 4 B ©

() BRI gRT

(B) SR TS 4 AR
© eeR ES U8 R
@ I T

Page: 12
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5. The output of an AND gate with three inputs | 50. J= 9T A, B 3iR C & @g AND e
A, B and C is high, when o1 foefa g
(A) A=0,B=0,C=0 (B} A=1,B=0,C=1 (A) A=0,B=0C=0
(0 A=1,B=1,C=0 (D)A=1,B=1,C=1 B A=14B=0C-=1
@ A=1,B=14,C=0
® A=1,B=1C=1
51. Transformation ratio of a transformer is - 5. CIABER BT IRoEe YU T -
(A) 1, (8) N, (A} 1, (8) N__
il NZ Ij_ NZ
(© N; {D} All of these {€) 343 (D) I Y
Ny Ny
52. To an astronaut in space, the sky will appear |52 Te oaReg It @1 o=aRy § BT
to be RIS
{A) black (8) blue (A) HTer (B) et
() violet (D) red (€ dr=it (D) &1
53. The laminations are made from 8. fqqreT g9 B @ -
(A} silicon sheet steel A Rafere diic swg
{8) nickel alloy steel stamping B) Ffse fsrg s sies
(©) low carbon steel © == e s
(D) chrome steel sheets ) »y $@E e
s¢. Which of the following is a conductor of 5. =g ¥ ¥ &9 fae@ &1 9 § 2
electricity ? n a5 (B) wegfAfrm
(A) Silver {B) Aluminium (© otar ) F |f
(€} Copper (D) All of these
5. Conductivity is measured in 55. FTeTddl |Gl Sl & -
(A} U—m B O0—m Ad U-m (8) 0O—m
© U/m B Q/m ©  U/m @  0O/m
Page: 13 600852
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58.

58.

59

&0

61.

The length of an air solenoid is 40 cm and
have 500 turns. If 1.0 ampere current is
flowing in solenoid, the magnetic field at the
axis of solenoid will be -

(A} 3.14 Gauss
(B) 15.7 X 107* Gauss

(© 3.14 x 107*Gauss

(D) 15.7 Gauss

MODEM isa
(A) demodulator - modulator system

(8) code changing system
() modulator - demodulator system

(D) programme conversion system

With the increase in length of conductor, the
value of resistance
{A) decreases (B) remains same

{C¢} None of these (D) increases

Eight charged drops of water each of 1 mm
radius and 10~1° coulomb charge, form a

big drop of water. The potential of big drop
will be -
(A) 1800 volt (8) 3600 volt

(©) 180 voit (0) 360 volt \

Persons suffering from myopia are advised
to use |
(A) convex lens (8) concave lens 5,

() plano-convex lens

{D) plano-concave lens

Dielectric strength of air is nearly

% T3 arg URARTE B 40 I W A
o) % 500 B £ | IR AR H 10
ampereﬁﬁ%ﬁwa‘rﬁﬁqﬁmﬁﬂﬁ
* iR ¥E W gEET 8 B -

A) 314 T
® 157 x 107* T4

(© 314 x 10~* T
(D) 15.7 T

57. MODEM ® -
() ReAfgerex-igaex Homell
(8) Pre BT S DI HOTA!
(0 wigoreefegaer yomel
(D) preieEH HAIARET OTTAl

5. qIE B TS 9 I, uRNE BT e
(A) gedr ® | (B) WA <&l ® |

© = A P e 0 ggar ¥ |

s v B e IRE & A B
et ton e ® 1077

L)

2 | 51 55 @ favg B
(A) 1800 dleT (8) 3600 dIec
(© 180 drec (D) 360 dIT
o0 Prpegic a9 @ afg wf & war

& o § -
(A T o= (8) IgaA o~

(© Taae-Sad o
(0) THGT-Igad o

6. qrg B WA TRE T -

{A) 3000 kV/mm () 300 kV/mm (A 3000 kV/mm (8 300 KV/mm
{c) 3 kV/mm {p) 30 kV/mm © 3 kV/imm (D) 30 kKV/mm
Page: 14




62. A 10 k resistor in parallel with 10 k,

A3

produces -
(A) 10k

(€) 20k

{D) can not be determined

(8) 5k

The resistance of human body is around -
(A) 1000 (B 250

(€} None of these (b) 10000

The symbol is

(A) NPN Transistor (B) PNP Transistor

{C) Photo Transistor

(D) Field Effect Transistor

One Lamp of S0 watt and 30 volt has to be
used in a line of 120 volt. Lamp must be
used with a resistance -

{A) 10 ohm in parallel (8) 10 ohm in series

{C) 20 ochm in series (D) 20 ohm in parallel

63.

85.

0 k& O g=R § 10 k uRRmy
ST Bl § -

(A) 10 k
€ 20 k
D) feiRa =& far s g&ar |

MG IR BT 9N e B § -
(&) 1000 (8) 250

© 3% ¥+ 7& © 10000
e &

(B 5 k

(A NPN wifSex  (B) PNP gifSieex
© wrer gifereex

D) Hice shae cifvwex

TP 90 dE, 30 diec & oF &I 120
dlee B IS W Sl & | 39% ford
AN & WS T BT P TR -

(A) 10 ¥ FHT FAR HH §
B 10 M &1 I BH H
(© 20 W &1 AN B H
0) 20 3 & TR HF H
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W,

if

s5. The value of the combination is

o6, I BT HIT ©

1 1%0n 1100
1 I
1 .
- T
(A) 50 n (8) None of these (A) 50 n
(©) 100 n (b) 200 n (B) TH ¥ PIS eI
(© 100 n (D) 200 n
67. Horse power is the unit of &7. 339 vfea SPIS ©
(A) electrical energy (B) power (A faga ol (8) sifa
() work (D) force (© i (D) g4
&s. The combined resistance of the circuit &8, qRUY &1 WY gfeRE -
1282 120
— AAAAA—— —AAAAN——
60 120 60 1282
A ——AAAAA—
120 120
A A A s L AAAAA——
A B A B
(A 40 8 120 W 40 B8 120
!
© 180 () 100 | © 180 ) 100
s Which is the most superior dielectric|ss Ha¥ J=R wEgS T T -
medium - (A) JHerTse = S N
(A) Bakelite (B) Glass © arg ® SES
(c) Air (D) Paper
70. Golden view of sea shell is due to 0. AHfED Jd B e g2 B ©
{A) dispersion (8) diffraction (A) ¥erg ¥ BRoT BREE $ BRO
{€) polarisation (D) reflection (©) gt ¥ wRo (0 g & BRO
71. Transformer is used to change the values of | 7% CRIBER Bl IR e gl Eal
(A) frequency (B) power Refia o= & o e 9 € -
{¢) power factor (D) voltage (A) SgfT 8) e
-‘ © v Eie  (©) dee
Page: 16 6O0R52



72,

73.

74.

75.

76.

Resistivity of copper at absolute zero is
A) 176 x 1078 Q—m

B 164 X 107°0—m

(€} negligible small (D) zero

Buchholz relay is placed

{A) in between the LV. winding and the
bushing

(8) in between the conservator and the
breather

(€©) in between the H.V. winding and the
bushing

{D) in between the tank and the conservator

A variable whose
capacitance -

(A) changes with time

capacitor is one

i8) changes with temperature
{CQ) changes with voltage

(D) can be changed

High-frequency transformers
generally made from -
(A) Mu-metal

(C) None of these

cores are

(8) Monel-metal

(D} Ferrites

What is unit and symbol of current ?
(A) Unit-Ampere (A), Symbol-i

(B) Unit-Ampere (A), Symbol-R
(€) Unit-Volt (V), Symbol-V
(D) Unit-Ampere (A), Symbol - V

72,

73.

74.

5,

76,

WA Y T R A B ARREET © -
(A) 176 X 10°°Q—m

(B) 164 x 10720 —m

®) 3F

goiea Rel Red & -
(A = e e IR bushing &
dig #

(8) conservator AR breather & 419

& g &9

(© J=g diew Feow AR bushing &
T #

() tank 3R conservator & 9 H
oRadi Rz & aRer -

(A g & 91y gRafda Exi § |

®) groEE & Wy IRafia g § |
(@ diees & WY gRafia 2R § |
©) gRaftia &% T & |

Ied AGRT TEBER R A A
2§

(A} Mu-metal () Monel-metal
(© 9 & BIg 78 (© Ferrites
g1 & SHS AR Uid T 8 ?

@ BETRER (A), WHEL

B) THEYFIR (A), FH-R

© gPEERS (V), WiBV

(0) FHE-YRGIR (A), FHH-V

Page: 17
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77. A fuse wire is used to 7. WIF AR BT ST AT §e € -

(A) convert DC into AC ® pC B AC ¥ uRafda & 4
(8) convert AC into DC ® AC @& DC ¥ uRaffa &= 4
() prevent an unduly high electric current| (O Id S faga oI BT gRur H
from passing through a circuit yaTed 8F O A& H
(D) make the electrical circuit strong () Rega IRuY B F9ga a1 q
7e. Byte is synonymous with 7. gTgc FATE ®
{A) character (8) bit (A) HNFex (8) fae
{c) word (D) band © g (D) gug
76, Which of the following logics has excellent | 7. i/ # & & qfee Wk W R T ?
noise margin ? (A TTL (8) I T
(A) TTL (8) All of these © ECL ) CMOS
() ECL () CMOS

80. The primary colours in photography are 50, PIETTE F Wi 37 €
(A) red, blue, yellow (B) red, yellow, green (A) &, T, e (B) oTd, T, 830

(C) red, blue, green (© oTet, e, &1 (D) e, die, B

(2} blue, yellow, green

81. A p-njunctionis 8. pn e ® -
(A) a rectifier (8) an amplifier (A) e feesr! (8) TH UgE®
{©) None of these (D) an insulator OIS O Rass -
g2 Which of the following is not 2 magnetic = &9 & & =7 T8 s 9 € ?
memory ? w25 m =
(A) Tape (8) Drum o = > e
{C) Disk (D) Flip-Flop
82 The curve representing Ohm’s law is - 8. g, I & mEF = FeRK ]dl g
(A) linear (B) sine function (A &g 8 sine SRE
{¢) a parabola (D) a hyperbola (©Q TRgT D) TR ag
64, Which one of the following is a primary cell? | 8. frer & B9 W Wafies S =7
{A) Daniel cell (8) Alkaline cell (A e I (8) Tomdlsd Hal
(€) Lead-Acid cell (D) Laclanche cell (0 Fa-TFarge I
) FgaTd A

Page: 18




85.

87.

Good conductors have many loosely bound -
(A) molecules (B) atoms

(©) protons (D) electrons

Five capacitors are arranged according to

figure, what will be the equivalent
capacitance between ‘A’ and ‘B’ ?
2 puF
] |
1uF =
{172 (Eoones = 24F
|
2uF
(A) 2 uF (8) 3 uFE
{€) 4 uF ®) 1uF

Transformer works on the principle of

{A) self-induction

(8)  Faraday’s
induction

{€) self and mutual induction both

law of electromagnetic

(D) mutual induction

The most widely used universal gates are
(A) OR and AND gates

(B) NOR and NAND gates
{€) NOR and AND gates
(D) NAND and OR gates

85.

I TAAF § RS § g B §
{Alam (quwtg
© g D) glRTH

ofe duiRE Rerr 93 € 1 R=el A
9 B & d9F geu aiRer erft

2 uF
1
Ae —H
I pF
k= 2
L i
Be 1
2 uF
(A)  2uF (8) 3puF
©  4yuF (b}  1pF
- TEER e g W 1 oRar ® 2
(A TIReT

® e & fEgageen Weoa FrE
°Ed

(€ W IR I Wehed SHT W

(D) I e

I SUIET SWN § M qrar |ardufe

Te e
(A OR 3R AND 7

(8) NOR 3R NAND €
(© NOR @R AND e
(®) NAND @R OR e

20, Insulators have a/an 8. fJ<iqred § B ® -
(A) large energy gap (A) Sg1eT Sl <RI
(8) empty conduction band B) Rea gras dvs
(¢} full valence band (D) all of these © qof HaeE qre
@) I [y
Page: 19 6O0RS2
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(8) P - g-particle, Q - proton, R - heutron, S

Lens is made up of

{A) pyrex glass (8) ordinary glass

{c) cobalt glass (D) flint glass

One neutron, one proton, one eiectron and
one g-particle with uniform velocity enters

in a magnetic field perpendicular to plane of
paper and vertically downwards. According
to figure the P, Q, R, S are the particles. Find
the correct one -

(A) P - proton, Q - g-particle, R - electron, S

- neutron

]

- electron
{c) P - proton, Q- c-particle, R — neutron, S
— electron

(D) P - electron, Q - proton, R = neutron, S- |
c-particle

90.

g1.

o= g BT ©
A) TR Brd (8) | BIE
© FEee Ba ©) e B

Wﬂaﬁ“,wmﬁ“,wsﬁaﬁﬁ” R
Wa—ﬂ?ﬂTWWé‘Tr"@fqaaﬁﬁéa
a&ﬁsmﬁmﬁaﬂaﬁm
#ﬁa%ah?%,ﬁmmﬁlﬁaﬁs
FTAR BT P, Q R SE | @& @
g PN |

X
W p - M, Q - o @ R - TR,
S - =
® p - @, Q - WEH, R - . S
- gaAagH
@ p - 95, Q - « ¥ RS
- e

© p - s9%=4, Q - WA, R - T
S - gD

& When used with an IC, the term “QUAD” |2 i@ IC ¥ W “QUAD" T= Y Bl
means T a9 o9l el 'R
(A) 4 circuits (B) 2 circuits (A) 4 qRuY (8) 2 gRo"g
(C) 6 circuits (D) 8 circuits @ s gRuy o) 8 uR9y
|
Page: 20 600352




4.

95

96.

97.

The effect of passing current through a
conductor is
(A} only magnetic effect

{8) only chemical effect
{©) only heating effect

(D) magnetic as well as heating effect

An alloy of copper and zinc is called
(A) None of these (B) brass

(©) bronze (D) gun metal

A proton with 10 eV kinetic energy is
moving in a magnetic field in circular
motion. What will be kinetic energy of an ¢

-particle (Alpha particle) moving in same
field and same circle ?
{A) 10 eV

Q) 6eVv

{8) 4 eV
(D} 8 eV

If in @ wire of resistance 12 1 and 5 mm

diameter, current is flowing 4 ampere. Then
the number of flowing electrons per second
in wire will be

(A 64 x 10%° (B} 25 x 10%°

© 64 x 107 (D 25 x 108

The material used for photo conductive cell

is—
(A) CdS (B) PhS
(&) ZnS (D) None of these

93.

a7,

IS q YIIRT BN 9Tl gRT 97 g9g
B ¥ -

(A) Hael FTIBIT TG

B g e g

© H9a ST gug

©) FHHT & AT HET TG

PR IR NF &1 Aerg seamr 2 -
W) g ¥ Big TE

(8] gmg

(€ gie (0) 7 Heq

10 eV TIRIST &S & T Se UHaar

T &9 § U6 qaeR 9 W R
WIEE | SN &3 § 9 o 7 W
T A i T BT (ISHT-HTI)

B RS Sl Far B8R 2
(A) 10 eV (B) 4 ev
(c) g eV (b) g eV

TP IR e aikg 12 W o any
5 WAl 8 § 4 TROER gR1 %7 yaE &
e gl AR A gfy Q. vake 2 99
AT B WET B

(A) 64 x 10*° (B 25 x 10%°

© 64 x 107%° (D 625 x 1018

THTE 9gd ¥ § ugred SuhnT oy § -
(A Cds (B) Pbs

© 7ns ) 39 q Hig &

Page: 21
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m

100,

The three plates each of ‘A’ m?2 surface

area, are kept at d;, and d, meter

according to figure, The space between
plates are filled with material of ¢, and ¢,

relative permittivity. The total capacitance
of the system will be

d; d;

W geeiA? B g eelA?
Eldl + Egdg Egdg_ + Eidz

(€ €1EonA (©) 61€2€DA
Egdl + €1d2 Eldl + Ezdz

The emf induced in the secondary winding
depends upon

(A) supply frequency (B) flux

(€) All of these (D) number of turns

|

The lead marked with the arrow is -

(A) The Emitter
{C) The callector

(B) The Case
(D) The Base i

% TP N m? TGE §AFA B FA g, 9
d, WX & gRIA | wER W I

Wl A 99 e @t e giRar w®
Bl 7 §0 4 & WA A g, @

e, AFI & [N JEAEiad & TEE W
g

€1 €2

ey ey

d; d,
W g exelA? B ge,e3A?
€:d; + €,d, €,d; + €.d;
© geA 0} g6.6pA
€,d; + g4, €:d; + €,d,

o fgde aET ¥ ke fRars. MRk
BT § -

W argft smgfy (@) varE
@ 35 of
(0) gHIg & W W

100 R § fafeTa offe § -
(A) wiex B) &9
(€ Feoreex (0) &9
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